7.9 - PARTS LIST - SB-175 Meteor Transmitter

Schematic
WRL Diagram
Stk. No. Desgignation Description Price
Miscellaneous, Cont'd,

64-1 . 095 pin crystal socket, 31/64 spacing .20
672 Pilot lamp socket for #12 lamp .20
74-3 T1 Transformer, audio, screen modulation 2,80
80-2 Terminal strip, 2 lug .05
80-3 Terminal strip, 4 lug and ground .05
80-4 Terminal strip, 1 lug, RH .05
90-3 Extruded washer, phenolic #6 .10
80-4 Flat washer, nylon #6 .05
92-1 Rubber grommet, 3/8" black . 05
92-3 Rubber grommet, 1/4" black . 05
93-1 #20 black plastic sleeving . 05/foot
101-1 J3 Coax chasgis receptacle SO-239/83-1R .49
102-1 J1 Jack, Key, closed circuit 1/4" 1,D. hole .27
103-3 J2 Jack, Mie., 3-way, PTT, (ring-tip-end)

3/18" hole .39
108-2 Plug, 11 pin, octal style with snap ring . 24
110-5763 Ve 5763 tube 2.53
110-6AQ5 V6 6AQ5A tube 1,07
110-6CL8 V1 6CL#6 tube 1. 87
110-6D10 V5 6:310 tube 2.05
110-

6DQ6B V3, V4 6DQ6B tube 2.08

113-#12 PL #12 pilot lamp .20
115-2 M Edgewise movement, 5 ma. 5%,

hi-temp case, 2 color dial 4,35
120-2 #6-32 x 1/4" BHMS, plated .. . 05
120-3 #6-32 x 3/8" BHMS, platad .05
120-5 #4-40 x 1/4" BHMS, plated .05
120-8 #3-38 x 1/4"' BHMS, plated .05
120-13 #4-40 x 1/2"" RHMS, plate steel .05
120-17 #5-32 x 1/8" hex (Allen) head, set screw .15
120-20 #5-32 x 5/8" BHMS, plated .05
121-1 #6-32 x 1/4" hex nut, plated .05
1212 #4-40 x 3/16" hex nut, plated .05
121-7 3/8-32 control nut . 05

SB-175 - Page 27



